

ROMANIAN MATHEMATICAL MAGAZINE

Find a closed form:

$$\Omega = \int_0^1 \int_0^1 \frac{\ln(1-xy) \operatorname{Li}_4(1-x)}{x(1-x)(1-xy)} dx dy$$

Proposed by Bui Hong Suc-Vietnam

Solution by Togrul Ehmedov-Azerbaijan

$$\begin{aligned} \Omega &= \int_0^1 \int_0^1 \frac{\ln(1-xy) \operatorname{Li}_4(1-x)}{x(1-x)(1-xy)} dx dy = -\frac{1}{2} \int_0^1 \frac{\ln^2(1-x) \operatorname{Li}_4(1-x)}{x^2(1-x)} dx \\ &= -\frac{1}{2} \int_0^1 \frac{\ln^2(x) \operatorname{Li}_4(x)}{x(1-x)^2} dx \\ &= -\frac{1}{2} \left\{ \int_0^1 \frac{\ln^2(x) \operatorname{Li}_4(x)}{x} dx + \int_0^1 \frac{\ln^2(x) \operatorname{Li}_4(x)}{1-x} dx + \int_0^1 \frac{\ln^2(x) \operatorname{Li}_4(x)}{(1-x)^2} dx \right\} \end{aligned}$$

$$\Omega_1 = \int_0^1 \frac{\ln^2(x) \operatorname{Li}_4(x)}{x} dx = \sum_{k=1}^{\infty} \frac{1}{k^4} \int_0^1 x^{k-1} \ln^2(x) dx = 2 \sum_{k=1}^{\infty} \frac{1}{k^7} = 2\zeta(7)$$

$$\Omega_2 = \int_0^1 \frac{\ln^2(x) \operatorname{Li}_4(x)}{1-x} dx = 2\zeta(3)\zeta(4) + 20\zeta(2)\zeta(5) - 36\zeta(7)$$

$$\begin{aligned} \Omega_3 &= \int_0^1 \frac{\ln^2(x) \operatorname{Li}_4(x)}{(1-x)^2} dx \stackrel{\text{IBP}}{=} - \int_0^1 \frac{\operatorname{Li}_3(x) \ln^2(x)}{x(1-x)} dx - 2 \int_0^1 \frac{\operatorname{Li}_4(x) \ln(x)}{x(1-x)} dx = \\ &= - \int_0^1 \frac{\operatorname{Li}_3(x) \ln^2(x)}{x} dx - \int_0^1 \frac{\operatorname{Li}_3(x) \ln^2(x)}{1-x} dx - 2 \int_0^1 \frac{\operatorname{Li}_4(x) \ln(x)}{x} dx - 2 \int_0^1 \frac{\operatorname{Li}_4(x) \ln(x)}{1-x} dx \end{aligned}$$

$$\Omega_{3a} = \int_0^1 \frac{\operatorname{Li}_3(x) \ln^2(x)}{x} dx = \sum_{k=1}^{\infty} \frac{1}{k^3} \int_0^1 x^{k-1} \ln^2(x) dx = 2 \sum_{k=1}^{\infty} \frac{1}{k^6} = 2\zeta(6)$$

$$\Omega_{3b} = \int_0^1 \frac{\operatorname{Li}_3(x) \ln^2(x)}{1-x} dx = \zeta^2(3) - \zeta(6)$$

ROMANIAN MATHEMATICAL MAGAZINE

$$\Omega_{3c} = \int_0^1 \frac{\text{Li}_4(x) \ln(x)}{x} dx = \sum_{k=1}^{\infty} \frac{1}{k^4} \int_0^1 x^{k-1} \ln(x) dx = - \sum_{k=1}^{\infty} \frac{1}{k^6} = -\zeta(6)$$

$$\Omega_{3d} = \int_0^1 \frac{\text{Li}_4(x) \ln(x)}{1-x} dx = \zeta^2(3) - \frac{25}{12} \zeta(6)$$

$$\Omega_3 = \Omega_{3a} - \Omega_{3b} - 2\Omega_{3c} - 2\Omega_{3d} = \frac{31}{6} \zeta(6) - 3\zeta^2(3)$$

$$\Omega = -\frac{1}{2} \{\Omega_1 + \Omega_2 + \Omega_3\} = 17\zeta(7) - \zeta(3)\zeta(4) - 10\zeta(2)\zeta(5) - \frac{31}{12} \zeta(6) + \frac{3}{2} \zeta^2(3)$$